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tidu biéu & moi 50+
trerong lam viéc cau
thgéc ngarjh T{S\i hoi
chinh -Ngan hang tu
luan

I11. N§i dung cau héi thi

PHAN TRAC NGHIEM (50 ciau _ 0,14 diém/ cau)

When a company has neither losses nor profit, itisa ..........cc.cccecc..o.......... business.

A. break-even

B. overproduction

C. initial

D. trending

ANSWER: A

Which countries form the Association of South East Asian ....... ?

A. Nations

B. Organizations

C. Countries

D. Unions

ANSWER: A

Thriva is known as beinga .................. investment company.

A. conservative

B. financial

C. moderate

D. real

ANSWER: A

...... means the money a business receives for its products after discounts, returns etc.
A. net sales

B. cost of sales

C. net profit

D. gross profit

ANSWER: A

Is the following sentence correct? The management proposed a location for the volume of
ma-chine parts.

A. Incorrect

B. Correct

ANSWER: A

Which firms do you think will make a ................................... for the majority of stocks
this month?

A. bid

B. white knight

C. bankruptcy
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D. deficit
ANSWER: A

.............. 1s the act of breaking or rupturing something.
A. Breach

B. Violate

C. Confidence

D. Motivation

ANSWER: A

Is the following sentence correct? The main concern of the World Health Organization is to
maintain public health

A. Correct

B. Incorrect

ANSWER: A

Thanks to hard work, Georgina has expanded our .................. by over 10% this year.
A. clientele

B. contribution

C. client

D. commission

ANSWER: A

What will B say? A: So the government makes worse economic decisions than the private

A. Yes, that’s one way to put it.
B. Yes, this group is right
ANSWER: A

Is the following sentence correct? In the Group of 20 (G20), many of the heads of central
banks come together.

A. Correct

B. Incorrect

ANSWER: A

A high ..........cceccee............ Temained due to costs being almost double the level of
revenue.

A. deficit

B. outstanding

C. bankrupt

D. bankruptcy

ANSWER: A

A stock broker cannot work in the banking sector at the same time as there is a
huge .................. of interest.

A. conflict

B. currency

C. direction
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D. commission
ANSWER: A

............ means the payment to repair something in the event of damage/destruction

B. agent

C. claim

D. investigation
ANSWER: A

What experience do you have of working with .................. strategies?
A. procurement

B. deduction

C. equity

D. brokerage

ANSWER: A

A. A good stock broker will explain all the pros and cons.
B.You could earn millions.
ANSWER: A

Is the following sentence correct? Thanks to his accountant, Sam had a tax debt of almost
$1,000.

A. No

B. Yes

ANSWER: A

Is the following sentence correct? You will need to prepare a purchase order for any new
equipment.

A. Yes

B. No

ANSWER: A

An investment bank works for clients and alsoin .................. trading for itself.
A. proprietary

B. property

C. work

D. salary

ANSWER: A

We promise you that we always have your .................. interests as a top priority.
A. best

B. bear

C. capital

D. mutual

ANSWER: A
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...... means to fail to pay a loan
A. default

B. profit

C. quick ratio

D. detract

ANSWER: A

A. | spent 3 years in payroll department in my previous job.
B. The company used the data.
ANSWER: A

Do individuals have a(n) ............. to run the economy in their best interests?
A. incentive

B. debate

C. leading

D. mobility

ANSWER: A

Economists predict a recovery from the current economic ....... by early May.
A. recession

B. bubble

C. consumption

D. spending

ANSWER: A

...... means the difference between total income and all expenses
A. gross profit

B. net profit

C. working capital

D. retained profit

ANSWER: A

............ means to provide financial protection from loss, harm, illness and such
A. insure

B. claim

C. protect

D. determine

ANSWER: A

............ means something that can be used or is easily obtainable
A. available

B. estimate

C. loss

D. protect

ANSWER: A

Many economists believe that public ............... involvement is needed at the moment.
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A. sector

B. labor

C. hand

D. leading
ANSWER: A

A. Yes that’s correct. We estimated a drop of 25%.

B. Yes that’s correct. The estimate for damages was $ 3,500.
ANSWER: A

In an effortto preventatotal .......................... down, a consultant was appointed this week.
A. shut

B. bid

C. deficit

D. bankruptcy

ANSWER: A

Is the following sentence correct? How many purchases did the company make on credit this
month?

A. Yes

B. No

ANSWER: A

If a company is able to operate, it is consideredtobe a .................. concern.
A. going

B. fiduciary

C. trading

D. accounting

ANSWER: A

An announcement was made about the ................................. of GH Stanley due to
complete failure.

A. liquidation

B. deficit

C. hostile

D. white knight

ANSWER: A

............ means to keep something safe from loss, harm, illness and such
A. protect

B. claim

C. investigate

D. estimate

ANSWER: A

The business consultant advised Greg on which ................................. structure to choose.
A. legal
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B. surplus

C. consumers
D. downturn
ANSWER: A

Just before noon today, Melt-it Co. made its own .............................. offer for TPT
Limited.

A. tender

B. receivership

C. white knight

D. divestment

ANSWER: A

The ............ price index (CPI) shows changes in the level of spending.
A. consumer

B. complexity

C. investment

D. spending

ANSWER: A

Underthe ........cccoeeeiiiint. , the management of the company was completely rearranged.
A. receivership

B. divestment

C. outstanding

D. bankrupt

ANSWER: A

The Board of Directors decided to .............cccceeeeeeevenv....... WTB Group and start all over.
A. restructure

B. divestment

C. tender

D. shut

ANSWER: A

...1s the situation to keep something secret.
A. In confidence

B. Quid pro quo

C. Regulation

D. Breach

ANSWER: A

............ means to guess the amount or quantity of something
A. estimate

B. determine

C. claim

D. cover

ANSWER: A
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.....means a measure of a company’s liquidity
A. quick ratio

B. retained profit

C. net profit

D. default

ANSWER: A

Is the following sentence correct? Sophisticated computer software can greatly help with
pricing management.

A. Correct

B. Incorrect

ANSWER: A

A. At least a full week.
B. You won’t use it anyway.
ANSWER: A

What do you believe has caused the recent drop in private .............. ?
A. consumption

B. fluctuation

C. incentive

D. labor

ANSWER: A

Is the following sentence correct? One of the main aims of the government is to maintain
price hyperinflation.

A. Incorrect

B. Correct

ANSWER: A

...... means a decrease in an asset’s value due to age or use
A. depreciation

B. inventory

C. overhead

D. cost of inventory

ANSWER: A

Is the following sentence correct? Having a strict quality control process can help reduce costs
and waste.

A. Correct

B. Incorrect

ANSWER: A

The owner of the company was obliged to declare ............................... due to severe
problems.

A. bankruptcy

B. parent
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C. outstanding
D. receivership
ANSWER: A

Neoclassical economists believed that individuals would make .............. choices.
A. rational

B. gross

C. spending

D. public

ANSWER: A

PHAN TU LUAN (I cdu_3 diém)
Cau héi: The number of young people choosing to start their own business right after

graduation is increasing. Do you agree or disagree with this trend? Write a short essay
(150-200 words) to give your opinion.

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi | Ndi dung dap an Thang diém | Ghi chi
I. Tric nghiém 7.0
Caul-50 | 0.14
Il. Ty luan 3.0
Khia canh 1 Céu trauc doan vin 1.0
Khiacanh 2 | Noi dung phi hop véi dé bai, ¢d su 1.0
dung tir vung da hoc
Khia canh 3 Ngit phap, van phong, chinh ta 1.0
Piém tong 10.0

TP. Ho Chi Minh, ngay 17 théng 7 nam 2024

Ngudi duyét dé Giang vién ra de
& 1
HOANG HOA SON TRA Nguy&n Thi Quynh Dung
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